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wuwpwupubph, Quithdut nrps
Swnwynipinuitip b dhwinpp 1,CLU3hY
woluwwnwtiputph | Uwnwiptibiph, dwnwjniegyniitbn b Quiwl sup|  puwn CLHUUBLE BUluUGrh foUtuub?
dhowtighl Ynnp'  {w2luwinwlpllip wujwunwiuGpp’puw (pupwiguwl|nbntywnn|  Uhwynph GNhUUNE /hwqup  [CLAHUUBLE
puwn nbnywwnihh JntinBywinnihh wpqp) thh ghup /npwd/ npwd/ /hwquip gpuwd/
1 2 3 4 5 6 7
pwdhuOt  funuipO1 nwuO1
1. Wuwunwluwqih wwhywund
UUU 1 Unruvever
1,1|9pwubtywlught yynpbp b hwgnwwn, wyn pydnud 1000,0 1000,0
wyn pYnud pun wnwudht wypwuputiph
30197632|@ninp qpbignt Adswihh PLUL 90 2170 196,0 196,0
30197234 |@npwuwywiwl-nkghunp A4-hwuwn PLUL 15 800 12,0 12,0
30197230 | @ npwywhwl-ntighunp A4-pupuwl POUL 100 500 50,0 50,0
22816300 | Lymdutiph Yusnit thnpp paehlutp(gnitwynp) PLUL 30 900 27,0 27,0
22817000 |Opwqhp-unpwntitnp PLUL 5 1200 6,0 6,0




39263200 | 9pwubbywljushs ghpp PRUL 30 1500 45,0 45,0
30192730 |Lwdhuwghwih punuup A4 Snpdwwnh PLUL 10 1000 10,0 10,0
30141200 |Unwuh huipyhs POUL 5 3000 15,0 15,0
30192122|9phs PLUL 100 100 10,0 10,0
30192128 |9nhs qlijwihts Yuuynywn POUL 50 250 12,5 12,5
30192131 |(Uwwhwn PLUL 50 40 2,0 2,0
30194810 | Lwunt PLUL 10 500 5,0 5,0
30192710 |Unuhtd(snp) PLUL 20 200 4,0 4,0
30192160 |Nunnhs hwpdwpuwup(awnphlu) PLUL 20 200 4,0 4,0
30197220 |Udpwly POUL 40 200 8,0 8,0
30197122 {un6qud POUL 20 500 10,0 10,0
30197330 | Ywlhs(vts) POUL 5 2500 12,5 12,5
30197324 |uwphg(dtis, 50-hg wyby ppph hwdwp) PPUL 10 2500 25,0 25,0
30197111 |Uwphsh dGnwnwiwpt Yuwbp ginpp POUL 30 700 21,0 21,0
30197112 |uwphsh dEwnwnwywpb juwbp Shoht RPLUL 20 800 16,0 16,0
30192114 |@wuwp Yuhph fuynywn PLUL 10 1300 13,0 13,0
30234620 uphs ($it2) 49p POUL 3 3500 10,5 10,5
32552100 | <tnwfunu POUL 4 6000 24,0 24,0
39263200| gpwubkljuwywiha ghpp, dwunjwh, 70-200t9, tnnnuwl PLUL 20 1500 30,0 30,0
30192150 |uupp PCUL 1 10000 10,0 10,0
30197231| pnpwwwGwy, wnihitpwih( punwip, )y POUL 15 1000 15,0 15,0
35821000] nnn2Gbp POUL 40 9000 360,0 360,0
30192100|ntwnhk, hwuwpwy PLUL 20 100 2,0 2,0
39263300 opwgnig ' PLUL 10 150 1,51 1,5
39263310 opwgnyg, uknwbh ARUL 2 1000 2,0 2,0
30197232 pnpwwwlwy, wpwqwywn, pnpjw PLUL 50 100 5,0 5,0
39263410 wipwy, dEnwnjw, thnpp rLUL 20 500 10,0 10,0
39263420| wipwy, dGnwnjw, 466 POUL 20 300 6,0 6,0
39263520| ubinuwy, thohl AOUL 50 200 10,0 10,0
39263530| utnuwy, dt6 POUL 50 200 10,0 10,0




30192113 | Pwlwpwyht pwppphoubip PLUL 100,0 100,0
Snubp PLUL 100,0 100,0
1,2 | Ushgunuyht U hwtpuyht ubinh tynyabip w 284,1 284,1
wjn pYnud pun wnwtdht wypwupubph
39831245|Qtinph htinniY 06wn(100 q)/wpunnwuwhduwiyg PLUL 3 1200 3,6 3,6
(@ninp qniqupwih (wpunwuwhdwbjwy wpu PLUL 10 100 1,0 1,0
39813000{Lywgnn b dwppnn thnyh PLUL 5 360 1,8 1,8
39812410 | Puwy gdw dhong thwjinjw Ywhnyph hwdw PLUL 3 1000 3,0 3,0
39831000 |Uywlhubph jugdwt dhgng PLUL 3 600 1,8 1,8
39525800 | Uywlhtu dwppbint qnpéuépubip (pugng) PLUL 3 500 1,5 1,5
19211100 | wwnwlh 9uong(gnpddwsp) RPLUL 3 2500 7,5 7,5
39835000 | Cwinwl dwppbint Snnuihwjun PLUL 1 2500 2,5 2,5
39836000 Uyt POUL 5 900 4,5 4,5
39224340 |Unpwdwi PLUL 10 2000 20,0 20,0
31531210 |k jwdy (J&d gnlyniny) 1004w PLUL 100 150 15,0 15,0
W) sbwfuwinbuwéd uynipbp PLUL 1 225,9 225,9
1,3| Spwuuynpuwhts yynpbp, wn pYnd 2300,0 2300,0
09132200 | PEuqht «Nbgniywp» oLl 3913 460 1800,0 1800,0
50112000 { Ujunnujuwhbutnwdwubip PLUL 1 500,0 500,0
2|UUU 2 ounusnkfe@3nhLuer 130,0 130,0
2,1 Ownuynquljwt dtpbuwtbph wwwhndugpnud
66510000 | Dwnwynquijwi dtiptuwubph wwwhnyjwqgpnid PLUL 2 65000 130,0 130,0
2,2 |Ywyh Swnwynipyniutbp, wyn pYnd 670,0 670,0
32410000 {hknwlunuwgwigh dwnwjnipjnty alalVle 1 298000 298,0 298,0
32415000 | «buwnbpubny» guugh dnunph wywhnydwt swnu POUL 1 360000 360,0 360,0
72415000 ¥ndtuh hwydtqpnud PLUL 1 12000 12,0 12,0
2,3|tutipgtivnply Swnuynipymitiubip, wyn pyYnud 650,0 650,0
71314100 | Ejaywnpwkubpghwih Swawynypjniuubp PLoUL| 3158 300,0 300,0
09121200 | Rbnnigdw swnwynipymutbp poUL] 3165 350,0 350,0
2,4| Nuydwbiwgpuhtt wy Swnwynipniuttph dknppk




80511000 |U wutwghnwlwl qupqugdwl Swnwynipniu PLUL 1 50000 50,0 50,0
48920000 [<US<-h uywuwpldwl Swawnypintt PPUL 1 120000 120,0 120,0
22200000 |Rtppbph L wiuwqpbph pwdwunppugpnieinl PLUL 12 20830 250,0 250,0
32250000 [Jwpswljut uwppuynpnidikp FOUL 0 447,2 447,2
Cunhwunip punyph
Pwdhu NO1 tunidp NO3  Twu NO2  wyp Swnwynipynit 70,0 70,0
Uuu 2 ounusnh@3nrLutr
Pwulwjht swnwynipiniu PCOUL 70000 70,0 70,0
Cunhwunip punyph
Pwdht NO1 tunwip NO3  Twu NO3  |wj| Swnwynip)nit 460,8 460,8
Cwdwluwpgqsuht Swnwynieyniu UL 100800 100,8 100,8
79212300 | Uninhnnpuwt Swnwynipynit ROUL 360000 360,0 360,0
LanhwlGnin plnyph
hwGnuyhl
gwrwynpintGaenh
qony
hGunwgnunuwljwa L
Guwuwqsuyhl
Pwdht NOT funwip NO5 | Mwu NO1 | L2Rnnwlplin, 0,0 0,0
Uuu 3 uchuusuvLeuvsr
71222200 | 2wpunbquqpiwy wjuwwnwup me 0,0 0,0
Cunhwtinip punyph
hwupuyghts
Pwdhu NO1 tunidp NO6 |  “hwu NOT  [Swnwinipynt 500,0 500,0
Uuu 2 ounNu3Nkr@3NkL
70000000{Utpwpd qnyph gpwugdwl nbnGlwwnyniyejw PCUL 500,0 500,0
Lwnupughwljwt
Pwdhu NO2 tunuip NO2 |  “wu NOT  |wjuunwwtinipynit 150,0 150,0




Uuu 2 ounusnie3nhL

75222000 | Lwnupwghwlwl yuwnmwwunipjut sdwnwinye)n PLUL 1 150,0 150,0
T U O SO T T3 T
wy| nwubipht
Pwdhu NO2 tunuip NO5 Nwu NO1  [swwwnljwlunn,
Uuu 2 oUtuann@3nhu
75220000 [swwunuwunn 1 0,0 0,0
Pwdhu NO3 tunidp NO2  Dwu NOT [ Pplwpup dwnwynipjnit 50,0 50,0
Uuu 2 ounu3nh@3Nhuy
75250000 {Pplwpwp dSwnwynipjnit PLUL 1 50,0 50,0
Pwdhu NO4 tunuip NO2  Twu NOT  |[ginuqwintinbiunip)nit
Uuy 2 cunu3nk@3nhu
77100000 |retdwubpny 1 50,0 50,0
Pwdhu NO4 lunwip NOS Tuu NOT  [Bwbwwwphwjht intnbunipynit
Uuu 2 ouNU3nh@3nNhL 5275,8 5275,8
44113900 | Swuwwjwphubph pupwghy ywhuwund pRUL 1 930,0 930,0
44113910 |wywhwwunud 1
Uuu 3 uchiusuve
Chupubiph U shuinypyniittph wyhwnwy Jepwnp mne 1 4345,8 4345,8
45233142 |tupwluynipjut Gwbwwjwphubtph thnuwjht 1
44113700 [bupwlwympjul Gwuwwwphubph mne 1 0,0 0,0
71356100 hulynnnipyniu 1
Cpowlpw
dhowuyph
wupwnwilGnigint
Pwdht: NO5 hunulp NO6 b No1 | (441 70 2700,0 2700,0
09120000 |Ubndwé quq t< 6818 293 2000,0 2000,0
Thqbpwsht Junbjwynip PRUL 1250 160 200,0 200,0
50112000 |Uywnnuyjuhbunwdwubp PCOUL 1 500,0 500,0




Cnowlyw

dhowdwyph
wupanuwbnegin G
Pwdh NO5 tunuip NO3 % NOT f o If’,‘f,’l‘l’fgff) 48,0 48,0
Uuu 3 uchiusuve
Chupbiph U Yunnygubiph pupwghl tnpngnud L POUL 1 48,0 48,0
90720000 (Ubjwdwuinwph b wnpwquyph Swppnud
Pwdht NO6 tunuip NO1 THwuu NOT  |Unpwhwnud 200,0 200,0
Uuu 2 ounusnh@3nhu
90720000 | Ujwdwwinwph b wnpwyuyph swppnud ne 1 0,0 0,0
Pwdhu NO6 tunuip NO3  Twu NOT | Qpudwwnwlwpwpmd 300,0 300,0
Uuu 2 ounu3nNkr@3nNkL
44141000 {Unjninuiqéh pupwghy unpngnui PLUL 1 300,0 300,0
Pwdhu NO6 tunuip NO4  Ttwu NO1  |Pnnngubiph pnwuwynpnid 2300,0 2300,0
vuu 1 umpuvevsr
wyn pYnid
31531000 | kil pwlwt jwduytip 2704wn PRUL 136 2200 300,0 300,0
Ep wy) vwppudnpnudubp POUL 84 6000 500,0 500,0
UUuu 2 ounu3nkh@3nhu
tubpqtnhy Swnuynipynitutp, win pynud 1
71314100 | Eubpqbunhly Swnwynipyniiubp PLUL 1500,0 1500,0
Uuu 3 uchiusuvLutr
Pwdhu NO8 tunuip NO1 “Hwu NO1 j:?i::g ek b 0,0 0,0
vuu rtunruveusr
44313100 | Cwuqunh gnunne b qpnuwygne pipwghly PoUL 1 0,0 0,0
Uy dawiynipwih
Pwdht NO8 funiip NO2  “huu NO4 Eﬁfﬁw“b"”‘"‘p’m“ 1500,0 1500,0




Uhpuwnympmiuuk

p wy] pwhnyp
shtunwyunnn
Juqiulkpynipnth
Pwdhu NO8 funuip NO4 Twu N27 bk 200,0 200,0
Uuu 3 ucuusuveusr
Lyhpwwynipynits POUL 1 200,0 200,0
Znipwpdwbkph
nupwghy
Pwdhu NO8 tunup NO2  Twu NO7 |4 o o 300,0 300,0
vuu 1 umruvLeusr
03121210| <niywpdwbubph pupwghy yEpwunpngnud PLUL 1 300,0 300,0
Uy tyjuunkp
Pwdhu NO9 bunuip NOT — twu NO2 | opho 600,0 600,0
UuuU 2 oUNU3Nkr@3NhL
Uj; tyywuntibp pynigbhg/wjuyniuwljubin/ POUL 1 600,0 600,0
Cupwghl
npudwyinphukp
yhnuljub b
hwdwjbpught ny
wnlwnpughb
Pwdht NO9 bunuip NO2  “hwu NO2 |10 lpumipnil 600,0 600,0
Uuu 2 sUNU3NK@E3NKL
Lupwghl npwdwinphubp POUL 1 600,0 600,0
Pwdhu NO8 tunudp NO2 Twu NO3 [dowlnyph ninth 1240,0 1240,0
UuuU 2 sUNU3Nh@3NKL
71314100 | EjkYwpwktbpghwih Swnwynipynitiubp PLUL 3158 100,0 100,0
09121200 | Qnnigdwl dwnuwynipjnitisbp PLUL 3165 200,0 200,0
80511000 |U wutiwghunwlwt qupqugdwl dwnwjnipiniu PoUL 1 40,0 40,0
45262700 |Thuph Jtpwunpngiwt w)juwwnwpbp PPUL 1 700,0 700,0
44521110{Puljuis PLUL 1 19,5 19,5
44140000{Chhwpwpuljub bniphp POUL 680,5 680,5
1,2 | Ybuigwnughts U hwipughti utiinh tympbp wyn 4 100,0 100,0




wyn pUnwl pun wnwudht wypwaputiph PLOUL
39831245 |aknph htinniy o6wn(100 q)/ wpnwuwhdwiywt PRUL 3 1600 5,0 5,0
f@nup qniqupwih (wpnwuwhdwiywl wpnwnp POUL 5 80 0,4 0,4
39813000 |Ljwgnn b dwppnn thnoh POUL 5 760 3,8 3,8
39812410 Py igdwl dhong thwywnyw Yuhnyph hwdwp PLUL 3 1000 3,0 3,0
39831000 |UwwYyhtutpp Jugdwt dheng PLUL 3 760 3,8 3,8
39525800 |Uwwlht dwppbijnt gnpdwdpubp (pugng) PRUL 3 1160 3,5 3,5
19211100 | Cwinwilh gugng(gnpéquwép)| POUL 3 2500 7,5 7,5
39835000 | Kwwnwl dwppbint dnnquihwyn PRUL 1 2500 2,5 2,5
39836000 |Uyky RLUL 5 1300 6,5 6,5
39224340 |Unpwiwl PLUL 5 4000 20,0 20,0
31531210 | £ jwdy (3t gnYynyny) 1004wn PLUL 176 250 44,0 44,0

1,1{9pwubtywluyhts tynpbp U hwgnww, win pyYnuf’ 100,0 100,0

wjn pYnid pun wnwudhu wypwupubiph PCUL
30197632|@nunpe qptint Adsunhh PLUL 33 2150 71,2 71,2
22817000 |Opwqhp-unpwwnbtinp PRUL 2 1250 2,5 2,5
39263200 |dpwubiiywluyht ghpp PLUL 10 1500 15,0 15,0
30192122 (Gphs PLUL 20 100 2,0 2,0
30192131 |Uwwnhwn POUL 10 200 2,0 2,0
30194810 |Lwunt POUL 4 125 0,5 0,5
30192710 |Unuht&(snp) PLUL 5 400 2,0 2,0
30197220 |Udpuwl PLUL 10 250 2,5 2,5
30197122 |unqud PLUL 5 250 1,0 1,0
30197111 |Ywphgh dEwnwnwiwpt Yuubp thnpp PLUL 5 260 1,3 1,3
32250000 | Twpswlwb vwppunpnidubp rCUz 70 14285 1000,0 1000,0

Pwdht NO5 tunwip NOT  wu NOT | Unputhutimipyotts 900,0 900,0
vuu 1 unrdueuse

32250000 | 4wpswlwt uwppwynpnedubip POUL 18 50000 900,0 900,0
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